2.2, Diffusers

linstructions for the diagrams for selection of AWR swirl diffusers

Relation of pressure loss (Ap) and a level of acoustic power (L) from air stream volume (Q).

D, =130, D, =350 D, =200, D, =540
398 x 398 598 x 598
498 x 498 598 x 598 623 x 623 623 x 623
Example: 1000 -
Output of 200m /h

From the crossing point of the diagonal line
(ventilator) with a vertical line Q=200m /h
draw horizontal linesthey indicate the degree
of pressure loss and noise.

For a ventilator:

(1) type D, = 130, D, = 350, dimensions
598x598 we achieve 28Pa and 60
approx. 52dB(A). 100 = —

(2) type D, = 200, D, = 540, dimensions 65
598x598 we achieve 1,9Pa and —
approx. 34dB(A). Ap [Pa]
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Relation of pressure loss (Ap), maximum stream velocity relation (V) and a range of velocity stream V=0,25 m/s (L, ;) from air stream volume (Q).

Y, [ms| D, =130,D,=350 Y, [ms| D, =200, D, =540

14 1 14+

12 + 12 +

10 T 1,0

08 T 08 +

06 + 06 +

N Q, [m¥/h]
3/h
04 + » m/h] 04 +
1600
02 + 02 +
400 800
i
200
0+ 0+ 100
I | | | | | | |
[ I I T ] ] T T
1 3 5 7 1 3 5 7
LO.ZE [m] I‘U,ZS [m]
Example:
Air Outlet 200 m¥h.

Moving along the curve reflecting a given outlet (outlet line) it is possible to estimate the maximal velocity of the air stream knowing the distance from the ventilator.
For ventilators type D, = 130, D,= 350, sized 98 x 598 maximal velocity does not exceed 0,9 m/s within 1 meter from the ventilator.
For ventilators type D, = 200, D,= 540, sized 598 x 598 maximal velocity does not exceed 0,1 m/s.
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2.2.

Ventilators — technical data

Instructions for diagrams for selection of swirl ventilators AWR

Relation of a range of velocity stream V=0,25 m/s (L,

) from air stream volume (Q).

D, =130, D, =350

D, =200, D, =540

V=0,25

Air distribution from the ventilators

Less then 4m

1000 1200 1400 Q, [msh]

Example:

Air outlet stream — 200 m3h

1) Ventilators type D, = 130, D, = 350,
sized 598x598 — we read a value of 3.45m

2) Ventilators type D, = 200, D, = 540,
sized 598x598 — for such an outlet the air stream
velocity does not exceed 0.2 m/s and L, ,= Om.
This is why for this ventilator the stream velocity will
exceed 0.2 m/s from an outlet of 450 m¥h, and
of 600m?/h it will be approx. 1,5m.

Maximal range between ventilators:

Example:

Air outlet stream 200m*h

There will be a velocity acceleration between the ventilators.
The range will be 1,8 times higher. For the above data we will
obtain: Ventilator type D, = 130, D, = 350 size 598 x 598 -
345mx18=621m
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